UCLA CS111
Operating Systems (Spring 2003, Section 1)

Homework 3 (Due 4/21/2003)

Instructor  


Andy Wang (awang@cs.ucla.edu)  


Office:  3732J Boelter Hall


Office Hours:  M1-3, W1-2, Th2-3, and by appointment

________________________________________________________________________

1. Suppose we have three processes.  

	Process ID
	Required CPU time
	Arrival Time

	1
	400 msec
	0 msec

	2
	300 msec
	50 msec

	3
	200 msec
	150 msec


(a) Draw the execution timeline for the FIFO scheduling policy, and compute the average turnaround time and the average wait time (1pt).

(b) Assume the time slice of 100 msec and a zero context-switching cost.  Draw the execution timeline for the round-robin scheduling policy, and compute the average turnaround time and the average wait time.  (1pt).

(c) Draw the execution timeline for the STCF scheduling policy, and compute the average turnaround time and the average wait time (1pt).
(d) Draw the execution timeline for the SRTCF scheduling policy, and compute the average turnaround time and the average wait time (1pt).
2. Find a creative/funny example of synchronization that can demonstrate the difficulty of developing a solution similar to the “Too Much Milk Solution 3.”  Make sure that you develop your own corresponding solutions 1, 2, and 3, and vigorously discuss the correctness and pitfalls of each solution.  (6pts)






































































